T H ®

l/ RyFy—h—EE
L

—
|

$=1/300 (A3)

o | mAIRER
LENE

dl

4

Sa7— )L
I i3

U

mi

C

“
7"

f-LY3

-

-

N (E

/

HIEE A=3701m
, (BEAEE)

SfF0 4 HE

25—Yad—)
TEE FoNHA Ko~ FEHTH

BIAE | fgw =5 M

E TEE

& |2 4%sh 18| R EF

REMERERBBHHER




1728

g Ik
w| ¥ EEM
i i
w®
i4
B @ﬁﬂw
| L
NN R g
JEw T & mm
T8 | B =
N2 Zla
qT ﬂ-.x*.EE
E...wjﬁ 4#_m
PR i
o | o | @ | i
7 $ﬂ L
H
G H |8 B =

7590 10000 10000 10000 10000 10000 10000 10000 10000 9515

$=1/500 (A3)

936000

I+ (Z%&)

=
=]

1340




v— MinARALIE - fRiE Bt B

S=1/300 (A3)

HEER S| 335. 80m

T T = = — 1
e T ] & _____ J
_ (=21
| > o _
||||||||||||||||| S _ o o _o___ o B __ o ___________u
K F— oAl
204. 27Tm
r— — 1
| |
BYET— LA | |
45.21m | |
4.90m I __
|
7,
%.q%s __ __
| |
HRT— L _ _
— 75.81m [ _
H — L o— — 4
i i =r =
5. 55m =] =
K F— Ll W 5
158. 83m g S
/ / \
’ ’ oo [T RN H111] -
/ / \ \
/ /
\
/ / = \
, ;
\\ / s \
/ / \
s N
/ AN
/
/ /
/ /
/ .
/
N n
l i
\" XHRBYBRVEYIBOMBROEA.
] HEBIZOWTIIHEHEEZHRETH L,
8 R =
=
___ 152
r—-—— - - - -~ -7 ﬁ
R —
S 4 HEE
I5—Yar—
—S %4 T—LHA Fo— FEHIH
| _ BI® | mew = H#m
‘ B 8| U— MEELE - BEEH GER
B % £ A% h 38 | R [
BUETE RN ER




~

A=l - IVUEY FEXS B

$=1/300 (A3)

—_ e e — — = — 4

600
IVUEY E g
BOER 1700 x 900
(EHST 1860 x 1060) ¢ 600
600
600
IIUEY RS
BOER 1700 x 900
(EHET 1860 x1060)
————————————————————————— S 4 HE
TEA Ea_z’ii;’}f/lﬁ/—l\iﬂil$
HMIME | medm = H#h A
= @ ;%—»-vpye‘yhﬁﬁiﬁ
H & |2 AFEh 45 | fBR BEx®
AR LR IA TR






